3613A Y Road Madison, KS 66860 Ph: 620-437-2661 Fax: 620-437-2881

FED ID# MC ID#

48-1214033 165290

HURRICANE SERVICES INC

104 Prairie Plaza Parkway Garnett, KS 66032

Ph: 785-448-3100 Fax: 785-448-3102

Remit to: Hurricane Services, Inc. 250 N. Water, Suite 200

Wichita, KS 67202

Customer:

IANTHA RESOURCES LLC 21517 NW 1650 RD GARNETT, KS 66032

Invoice Date: Invoice #: 9/30/2016 0024143 MINKLEY 4 INJ

Lease Name: Well#: County:

ANDERSON

Date/Description	HRS/QTY	Rate	Total
Ticket 100808 Longstring	0.000	0.000	0.00
Pump truck #201	1.000	675.000	675.00
Bulk truck #202	1.000	300.000	300.00
Cement Pozmix 50/50	124.000	11.300	1,401.20 T
Bentonite Gel	534.000	0.300	160.20
Pheno Seal .	31.000	1.700	52.70
80bbl Vac Truck #109	1.000	84.000	84.00
City water	3,000.000	0.013	39.00
Top rubber plug 2 7/8"	1.000	30.000	30.00 T
Bid price	1.000	357.800-	357.80-T
Bid price	1.000	350.220-	350.22-

Net Invoice 2,034.08 Sales Tax: (8.00%) 85.87 2,119.95 Total

All invoices are due upon receipt. Interest at the rate of 1 1/2% per month may be charged on all invoices not paid within 30 days from date of invoice.

WE APPRECIATE YOUR BUSINESS!



250 N. Wa	iter, Ste 200	- Wichita, Ks (57202 H	URRICA	NE SERV	ICES INC	104 P	Prairie Plaza P	arkway - Gi	arnett, K	is 66032
Customer	IANTHA F	RESOURCES		******************	stomer Name	"CHRIS MCG	OWN	Ticket No	2.1	1008	08
Address:					AFE No			Dat	9/30/201	6	
City, State, Zip:					Job typ	LONGSTRIN	IG				
Service District:	MADISON	I, KANSAS			Well Details	s:					
Well name & No.	MINKLEY	#4 INJECTION	1		Well Location	COLONY	County	ANDERSON	J State	« KANS	AS
Equipment #	Driver	Equipment #	Driver E	Equipment #		TRUCK CAL		TANDERSON	4	AM	TIME
25	JAKE					ARRIVED AT				AM AM	1:00
201	JERRY					START OPE				AM PM	1:15
202	KEVIN					FINISH OPE				AM PH	1:45
109	BILLY					RELEASED	W 111 - 11			AM PM	2:30
							A STATION T	TO WELL			2
				T	reatment S	ummary	TOWN THE PARTY AND THE PERSON NAMED IN	***************************************	*****************	-	
GEL AROUND, I 4.5 BBL FRESH	PUMP 3 BE	BL DYED WATE	ER, MIX AND	PUMP 124	SACKS C IN. RELEA	EMENT. STOR	P. WASH PU E. SHUT IN V	JMP AND LIN WELL. RIG D	ES. DROP	PLUG.	DISPLACE
Product/Service Code	Description					Quantity					Net Amount
C20103	Cement Pu	ımp	Same and Area Area ha		NAME AND ADDRESS OF TAXABLE PARTY.	CONTRACTOR OF STREET	NAME AND ADDRESS OF THE PARTY.	SECULIORISMENTE INCHES AND	NO. OF STREET,		NAME OF TAXABLE PARTY.
C00104					ea	1.00	\$300.00				
P01604	50/50 Pozr	nix Cement			sack	124.00	\$11.30				\$1,050.90
P01607	Bentonite (Gel			lb	234.00	\$0.30	\$70.20			\$52.65
P01607	Bentonite (Gel			lb	300.00	\$0.30	\$90.00			\$45.00
P01618	Pheno Sea	1			lb	31.00	\$1.70	\$52.70			\$39.53
C10900	Vacuum Tr	uck 80 bbl			hr	1.00	\$84.00	\$84.00			\$63.00
P02000	H2O				gal	3,000.00	\$0.01	\$39.00			\$29.25
P01631	Rubber Plu	g 2 7/8			ea	1.00	\$30.00	\$30.00			\$22.50
IEDMS-Cost in dataset											
erms of sale for approved	d accounts are to	otal invoice due on or	before the 30th day	from the date			Gross:	\$ 2,742.10	Net:	\$	2,034.08
month or the maximum al	lowable by appli	cable state or federal	laws if such laws li	imil interest to a			\$ -	Tax Rate:	7.150%	_	>
									Sale Tax:	\$	4
such collection. In the event that Customer's account with HSI becomes delinquent, HSI has the light to revoke any and all discounts previously applied in arriving at net invoice price. Upon				wells are not laxable. Total: \$ 2,034.08							
evocation, the full invoice	price without di	scount will become in	nmediately due and	owing and	Date of Service: 9/30/2016						
onditions including the St		Treatment Summary SAFETY MEETING. SPOT IN AND RIG UP. PUMP WATER AHEAD. MIX AND PUMP GEL, PUMP WATER TO BRING BBL DYED WATER, MIX AND PUMP 124 SACKS CEMENT. STOP. WASH PUMP AND LINES. DROP PLUG, DISPLACE BUMP PLUG. HOLD PRESSURE 30 MIN. RELEASE PRESSURE. SHUT IN WELL. RIG DOWN LEAVE LOACTION									
X					WEST 00001000		77.00				
	CUSTOM	ER AUTHORIZED AGEN	IT		3330000						
	Custo	mer Comm	ents or Co	ncerns:	- draint Albert with Post		Account of the Co. Name of the Control of				AND DESCRIPTION OF THE PARTY OF
And the second s	- Control of the Control	- Indiana and and a									



HURRICANE SERVICES INC

Customer:	r: IANTHA RESOURCES			Date:	9/30/2016		Ticket No.:	100	808	
Field Rep:	CHRIS MCG	OWN								
Address:										
City, State:										
County, Zip:										
		-						THE STREET STREET, STR	CONTRACTOR CONTRACTOR OF THE	NAMES OF THE OWNER, AND THE OWNER,
Fi	ield Order No.:	100	808		Open Hole:	5 7/8" 762'	7	Perf De	pths (ft)	Perfs
	Well Name:	MINKLE	Y #4 INJ.		Casing Depth:					
	Location:	COLO	VY, KS		Casing Size:					
	Formation:				Tubing Depth:	749.45'				
Ту	pe of Service:	LONGS	TRING		Tubing Size:	2 7/8"				
	Well Type:				Liner Depth:					
	Age of Well:	NE	:W		Liner Size:		_			
	Packer Type:				Liner Top:		_			
	Packer Depth:				Liner Bottom:		_			
т	reatment Via:	TUB	ING		Total Depth:					
									Total Perfs	0
		ON RATE	PRES	SUDE		and the second of the second o	ka barke a New York	PROP	HOL	FLUID
TIME	FLUID	N2/GO2	STIP	ANNULUS		REMARKS		(lbs)	(gls)	(bbls)
1:00 PM					ARRIVE ON LOC	CATION				
					SAFETY MEETIN					
					SPOT IN RIG UP					
1:15 PM					HOOK UP TO TU	JBING				
	2.0		150.0		PUMP WATER					2.00
	2.0		150.0		MIX AND PUMP					9.00
	2.0		150.0			O BRING GEL AROUND				13.00
	2.0		150.0		MIX AND PUMP					3.00
	2.0		400.0			CEMENT 124 SACKS				27.16
					STOP	ID LINES				40.00
					WASH PUMP AN	ID LINES				10.00
	20		450.0		DROP PLUG					4.50
1:45 PM	2.0		1,100.0		DISPLACE BUMP PLUG					4.50
1,45 PW			1,100.0		HOLD PRESSUR	RF				
2:15 PM			500.0		BLEED DOWN P					
			500.0		SHUT IN WELL					
						AND RIG DOWN				
							TOTAL:			68.66
							, L			
	Mari El Dal	SUMN		A DO:	г	PRODUCTS USED				
Γ	Max FI. Rate	Avg FI, Rate 2.0	1,100.0	Avg PSI 394.4	ן [
L			.,,,,,,,,,		_					
						m 21 21 12				
					L	124 SACKS 50:50 + 2% G	EL + 1/4# PHE	NOSEAL		
Treater:	Jake 1	Heard						Customer:	Chris McGowr	1



HURRICANE SERVICES INC

TIME	INJECT FLUID	ION RATE N2/CO2	PRES STP	SSURE ANNULUS	REMARKS	PROP (lbs)	HCL (glg)	FLUID (bbls)
2:30 PM		1		The second second second	OFF LOACTION	ALCOHOLD STATE OF THE PARTY OF	Control and the Section of the Secti	ONE PRODUCTION OF THE PERSONS
					THANK YOU			
				ļ	JAKE JERRY KEVIN BILLY			
					VAIL SERVE REVIEW DIEE!			
					DI FACE CALL ACAIN			
			 		PLEASE CALL AGAIN			
		ļ						
								7
			A 12 14	1 1 11 1	rie is calculated in the summary and totals on page 1	L		

Activity provided on this page is calculated in the summary and totals on page 1